
06-80205

Intake Kit Installation Instructions: The Universal Offroad Canister XL

Complete Kit 

Step 1 Step 4

Install button head screws and wavy washers
through canister with 5-1/2” adapter.

Step 2

Install cover clip with hardware provided, and
tighten using 10mm socket or wrench.

Step 5

Line up cover clips to Dzus fasteners and secure
cover.

Step 6

With 10mm socket or wrench, tighten down band
clamps with hardware provided. Use 1 flat, 1 lock
washer per screw (Make sure nylon spacer is
between clamp to keep from collapsing.)

Step 3

Tools Required
5/16” nut driver 
10mm socket w/ ratchet or wrench
7/16”  socket w/ ratchet or wrench
Flat-head screwdriver

Part List:
1 Air Filter P/N (Pro  Dry  S  ™ 21-90036 or 

Pro-GGUARD  ™ 72-90036)
1 Housing, rotomold
1 Cover, rotomold
2 Band clamps
1 Snorkel
1 Adapter, filter
1 Cover clip
1 Coupling, hump 4 3/4” x 3”L
2 Clamp, #080

1 Coupling, hump 4” x 4”
2 Spacers, nylon
3 Screw, hex M6 x 1 x 12
5 Screw, button head M6
2 Screw, hex M6 x 1 x 40
5 Washer, lock
2 Nut, hex M6
5 Washer, flat M6
5 Washer, wavy M6
2 Clamp, #072
1 Coupling, reducer 4” x 3-1/2”

advanced FLOW engineering™
P.O. Box 1719

Corona, CA 92879 
Support: 951-493-7100
www.aFepower.com

Install filter into canister and tighten using 5/16”
nut driver. (Use cut out slots to tighten.)

Kit Part # 51 /75-11061

Make:         Universal

Model:                  Engine:
Universal                       Universal     

Note: Filter Cleaning and Re-oiling: When cleaning your aFe filter, be sure to use only aFe’s “Restore Kit” ( aFe P/N: 90-50000 gold oil aerosol, or aFe P/N: 90-50500 gold squeeze oil ).  
Filter Replacement P/N: 72-90036  Pro-GGUARD  7  ™ (black w/gold media) or  Pro  Dry  S  ™ P/N: 21-90036 r(black w/white media) Pro  Dry  S  ™ cleaning: see cleaning instruction sheet 06-000745008 Pro-GUARD 7™ medic/gold media). Pre-filters: 28-10011 yellow, 28-10012

Install your snorkel with hump coupler and
clamps and tighten. (Snorkel and band clamps
can be adjusted)

Step 7

Two couplers are provided to use when installing
your canister. (Your choice of what size to use)
Check all hoses, clamps and connections peri-
odically. Thank you for choosing aFe!

Step 8


